Math 153 - Quiz 1 Name __Key

January 18, 2018 Score

Show all work to receive full credit. Supply explanations when necessary. YOU MUST WORK
INDIVIDUALLY.

1.

(1 point) A researcher is interested in determining how U.S. senators feel about a
certain issue. The researcher interviews 18 senators. Identify the population and the
sample.

PoPu\,AT\orb: _“-\6 \OO‘ .S, SenarTtore

Sampre The 1® Ssoators ACTUALY BELETED

(1 point) The average age of those killed in the World Trade Center attacks is 40 years.
Is this number a parameter or a statistic? Briefly explain your reasoning.

\T \S A Pm}\mem RECAUSE \T DESCR\RES
THE POPULATION; NOT A TAMPLE,

(1 point) It has been observed that the more violent a particular society is, the more
left-handed people it has. Can we conclude that left-handed people are violent? Ex-
plain. :

0, AN OB8eeVEQ CORRELATION DOES

NoYT |m P\.:S CAUSATION.

(2 points) Determine the level of measurement. Choose from nominal, ordinal, interval,
or ratio.

~ (a) Distances that students commute to school

R Af\o

(b) Places of athletes finishing a marathion

OR_NNAL_



5. (1 point) Suppose you were assigned the task of analyzing the data shown here.
19,25, 87, 34,68, 73,87, 12, 50, 45, 86, 72
What is wrong with this assignment?

\HE DATA ARE VOT \N ConTEyYT. \'\' \§ NOT QL

W HAT T\-\en REPREIWT OR WUWAT Swouln R[E

Vope To ANALK?&. '

6. (1 point) A ten-student committee is formed by selecting 6 full-time students and 4
part-time students at random. Is this a simple random sample? Explain.

/\/0, NoT ALL SAmpeS oF /O Are EQuALLy
LllC&LH. I FACT, A SAmpcE OF /O Fut-Timé

STUo@TS 18 /7 poteiBLE.

7. (3 points) Ten students are to be selected from a group of 100 students.

(a) Explain how you could do so with systematic sampling,.

%/AWS THE STuoewTS CouNT OFF freom 7 T 0.

77153 SeLecT €vEry STUBROT WHO WAL A 10.

(b) Explain how you could do so with stratified sampling.
SEPAQAT& THe STURWTS \NTO 5 D\FFQQQDT’
Qroupy BAtey on THEIR AGES. Theo lgwey
7wWo STudtnTS From EACH qRroup.

(c) Explain how you could do so with cluster sampling.
8 ERARATE The STuowTs WwTo 10 %Qw@

OF 10. T\-\m CHoo\E A 3Qov\9 AT Random,



